ST. GEORGE’S SCHOOL, ALAKNANDA
MID TERM EXAMINATION [2017-18]

S ECT: MATHEN .; TICS - LR W

Max Marks : 100 M

No. of pages : 03

General Instructions:-
(i)  All questions are compulsory.

(ii) The question paper consists of 29 questions divided into four sections. Section —A
comprises of 4 questions of 1 mark each. Section —B comprises of 08 questions of 02
marks each Section — C comprises of 11 questions of 04 marks each and Section D
comprises of 06 questions of 06 marks each.

(iii) There is no overall choice.

Section : A

Q1.  Write the power set of {0, 0, { @ }}. -

Q2.  Write the following set in the Roaster Form.
- : A = {x - x is 2 positive integer less than 10 and 2" — |

Q3. Find Multiplicative Inverse of —1i.

Q6. Evaluate (1+1)° + (1 —1)°

Q7. Solve |5 —2x| <1, x € R and represent the 50 i

Q8. If nc; nclﬁnd n co

Q9. State and prove De-morgan’s Law.




QI11. Find the smallest positive integ

QI18.

Q19.

Q20.

Q21.

Q22.

Q3.

Shieged

1+2:53+——mn 4:'.;

Find the real values of x and }7 for which the following equalities

(x* +2xi) — ( 3x* +iy) = (3 — 50) + (1+ 2iy).

Find the 4™ term from the end in the expansion ¢

In 2 survey it was found in 2
I !. mizg —— i i .--
and Punjabi both while 12 like P

types of food. Find the number of persons for w

Find the term independent of x in the expansion o

Find @ if 3 tan (8 - 15°) = tan (8 + 157)

Find the domain and range of : -
2_
a) ()= b) f(x) =vx—1

x—4

— Cos (8 — @) + Cot (x + @) Sin(® — O)

’ -




Section : D

Find the value of 2x* + 5,0 + Tx* —x + 41 whenx=-2-V3 i

o | 3x sm n
uus;)(l--lrms 5 )(1 +cos— ) (1 +cos 5 ). =

ficients of 5™, 6% and 7% terms in the expansion of (1+x)" are in AP..
Ifxcos @ =ycos (@ + E;r-)=zpos(ﬂ+ Z—H),thcnﬁudﬂmvaluenfxy+:.rz+mc.
Prove that : -

a) sin ‘2 6x —sin % 4x = sin 2x sin10x

Sec88—1 _ tan8b
) Sec46—1 tan 20




